
Skellig
Week 5 Session 1 English

Read Chapter 17 of Skellig. You have two options for this. You can  use the YouTube video that is linked below, making 
sure that you are following along as the lady reads (if the link does not work the video is attached to this assignment):

https://www.youtube.com/watch?v=OQNdwcOwSMc (Chapter 17 1:35 - 6:30)

If you prefer, you can read the chapter yourself. This website: http://indbooks.in/mirror1/?page_id=43115 contains a copy of every 
chapter in the book. Remember, today you are reading chapter 17.

Once you have read the chapter, you have a reading task to complete. However, today’s task is a little different. Instead of 
giving you comprehension questions, you have got the answers to some questions about the chapter. You need to look at 
the answers and write the questions that you think would go with them. Don’t forget to use the answer sheet to mark 
your work when you are finished before handing it in on Google Classroom.                                                             
For example:

1. In her front garden.

I think the question was: Where was Mina when Michael visited her at lunchtime?

              

https://www.youtube.com/watch?v=OQNdwcOwSMc
http://indbooks.in/mirror1/?page_id=43115


1. The mystery man 
The question was: 

2.  William Blake
The question was: 

3. She thinks it stops children learning because it shutters them and stops them looking carefully.
The question was: 

4. Yes she does. I know this because she describes it as the ‘sweetest noise’.
The question was: 

5. She teaches focus. I know this because he is able to hear quieter sounds.
The question was: 

6. He has not. I know this because he says it sounds ‘like it was coming from another world.’
The question was: 

7. The evidence for this is that she talks in detail about birds bones. For example, she knows ‘ pneumatisation ‘ 
is the reason the birds can fly.

The question was: 
Challenge question. 

8. Do you think Michael enjoys spending time with Mina? Explain your answer carefully.

Answer:


